# A note on *b*-generalized derivations in rings with involution

# Muzibur Rahman Mozumder<sup>\*</sup>

Department of Mathematics Aligarh Muslim University Aligarh-202002 India muzibamu81@gmail.com

### Adnan Abbasi

Department of Mathematics Madanapalle Institute of Technology and Science Andra Pradesh India adnan.abbasi001@gmail.com

#### Nadeem Ahmad Dar

Govt. HSS, Kaprin, Shopian Jammu and Kashmir India ndmdarlajurah@gmail.com

## Ajda Fošner

University of Primorska Faculty of Management SI-6101 Koper Slovenia ajda.fosner@fm-kp.si

# Mohd Shadab Khan

Department of Commerce Aligarh Muslim University Aligarh-202002 India shadabkhan33@gmail.com

**Abstract.** Let R be a ring with involution \*. The purpose of this paper is to investigate the special type of mappings defined on (R, \*). In fact it is shown that these mappings are actually the *b*-generalized derivation defined on R.

Keywords: prime ring, derivation, b-generalized derivation, involution.

<sup>\*.</sup> Corresponding author

#### 1. Introduction

Throughout this article, R be a prime ring with involution and  $Q_r$  will be the right Martindale quotient ring of R. For any  $x, y \in R$ , the symbol [x, y] will denote the commutator xy - yx, while the symbol  $x \circ y$  will stand for the anticommutator xy+yx. R is said to be 2-torsion free if whenever 2x = 0; with  $x \in R$ implies x = 0. R is prime if xRy = (0), where  $x, y \in R$ , implies x = 0 or y = 0and is called a semiprime ring in case xRx = (0) implies x = 0. A derivation on R is an additive mapping  $d : R \to R$  such that d(xy) = d(x)y + xd(y), for all  $x, y \in R$ . A derivation d is said to be inner if there exists  $a \in R$ such that d(x) = ax - xa, for all  $x \in R$ . Following Brešar [9], an additive mapping  $F : R \to R$  is called a generalized derivation if there exists a derivation  $d : R \to R$  such that F(xy) = F(x)y + xd(y), for all  $x, y \in R$ . Basic examples are derivations and generalized inner derivations are maps of type  $x \mapsto ax + xb$ for some  $a, b \in R$ .

Many results in the literature indicate how the global structure of a ring R is often tightly connected to the behavior of additive mappings defined on R. Many results in this direction can be found in [1, 5, 6, 7, 8, 9, 10, 15, 16, 17]. Very recently Koşan and Lee [14] introduced the new concept of left *b*-generalized derivation as follows: Let  $d : R \to Q_r$  be an additive mapping and  $b \in Q_r$ . An additive mapping  $F : R \to Q_r$  is called a left *b*-generalized derivation, with an associated mapping d, if F(xy) = F(x)y + bxd(y), for all  $x, y \in R$ . Moreover, it is prove that if R is a prime ring, then d is a derivation of R. In the present paper, this mapping F will be called a *b*-generalized derivation is a 1generalized derivation. For instance for any  $x \in R$ , the mapping  $x :\to ax + bxc$ for  $a, b, c \in Q$  is a *b*-generalized derivation of R.

An additive mapping  $* : R \to R$  is called an involution if \* is an antiautomorphism of order 2, that is  $(x^*)^* = x$ , for all  $x \in R$ . A ring equipped with an involution \* is called an involution ring. Very recently, many authors have studied certain additive mappings like derivations, generalized derivations in the setting of rings with involution (see [2, 3, 4, 11, 12] for references). They not only characterized these mappings but also found that there is a close connection between the commutativity of R and these mappings. Here our emphasis will be more in the direction of the a special type of mapping defined on R, which were first studied in [18].

In fact, our motivations comes from [ [13], Theorem 4.1.2], which stated as: Let R be a simple ring with involution of characteristic not 2, such that  $dim_Z R > 4$ . Let  $d: R \to R$  be such that  $d(xx^*) = d(x)x^* + xd(x^*)$ , for all  $x \in R$ . Then d is a derivation of R. We prove the following results.

**Theorem 1.1.** Let R be a 2-torsion free semiprime \*-ring with involution such that R has a commutator which is not a zero divisor. If there exists an additive mapping  $F : R \to R$  associated with a nonzero derivation  $d : R \to R$  such that  $F(xx^*) = F(x)x^* + bxd(x^*)$ , for all  $x \in R$ , where b is a fixed element of R. Then F is a b-generalized derivation.

**Theorem 1.2.** Let R be a 2-torsion free semiprime \*-ring and let R has a commutator which is not a zero divisor. If there exists an additive mapping  $F: R \to R$  associated with a nonzero derivation  $d: R \to R$  such that  $F(xy^*x) = F(x)y^*x + bxd(y^*)x + bxy^*d(x)$ , for all  $x, y \in R$  and b is a fixed element of R. Then F is a b-generalized derivation.

#### 2. Main results

To prove the above results we need the following lemma.

**Lemma 2.1.** Let R be a 2-torsion free ring and let  $F : R \to R$  be an additive mapping associated with a nonzero derivation  $d : R \to R$  such that  $F(x^2) = F(x)x + bxd(x)$ , where b is a fixed element of R. Then, for all  $x, y, z \in R$ , the following statements hold:

- (*i*) F(xy + yx) = F(x)y + F(y)x + bxd(y) + byd(x);
- (*ii*) F(xyx) = F(x)yx + bxd(y)x + bxyd(x);
- $(iii) \ F(xyz+zyx) = F(x)yz + F(z)yx + bxd(y)z + bxyd(z) + bzd(y)x + bzyd(x);$
- $(iv) \ \delta(x,y)[x,y] = 0, \ where \ \delta(x,y) = F(xy) F(x)y bxd(y).$

**Proof.** (i) We have

(1) 
$$F(x^2) = F(x)x + bxd(x), \text{ for all } x \in R.$$

Replacing x by x + y and using (1), we get

(2) 
$$F(xy+yx) = F(x)y + F(y)x + bxd(y) + byd(x), \text{ for all } x, y \in R.$$

(ii) Taking y = xy + yx in (2) and using it, we arrive at

(3)  

$$F(x^{2}y + yx^{2}) + 2F(xyx) = F(x)xy + F(x)yx + F(x)yx + F(y)x^{2} + bxd(y)x + byd(x)x + bxd(x)y + bx^{2}d(y) + bxd(y)x + bxy(x) + bxyd(x) + bxyd(x), \text{ for all } x, y \in R.$$

Replacing x by  $x^2$  in (2) and using (3) and the fact that R is 2-torsion free, we obtain

(4) 
$$F(xyx) = F(x)yx + bxd(y)x + bxyd(x), \text{ for all } x, y \in R.$$

There by proving (ii).

(iii) Replacing x by x + z in (4) and using (4), we get

(5) 
$$F(xyz+zyx) = F(x)yz + F(z)yx + bxd(y)z + bzd(y)x + bxyd(z) + bzyd(x),$$

for all  $x, y \in R$ . Thus proves (iii).

(iv) On substituting xy - yx in place of z in (5), we get  $\delta(x, y)[x, y] = 0$ , for all  $x, y \in R$ , where  $\delta(x, y) = F(xy) - F(x)y - bxd(y)$ . This completes the proof of Lemma.

## Proof of Theorem 1.1. We have

(6) 
$$F(xx^*) = F(x)x^* + bxd(x^*), \text{ for all } x \in R.$$

On linearizing (6), we get

(7) 
$$F(xy^* + yx^*) = F(x)y^* + F(y)x^* + byd(x^*) + bxd(y^*)$$
, for all  $x, y \in R$ .

Taking  $y = x^*$  in (7), we have

$$F(x^{2} + (x^{*})^{2}) + F(x)x + F(x^{*})x^{*} + bx^{*}d(x^{*}) + bxd(x), \text{ for all } x \in R.$$

This can be further written as

(8) 
$$B(x) + B(x^*) = 0, \text{ for all } x \in R,$$

where  $B(x) = F(x^2) - F(x)x - bxd(x)$ , for all  $x \in R$ . Replacing y by  $xy^* + yx^*$  in (7), we obtain

$$F(x(y+y^*)x^*) = -B(x)y^* + F(x)(y+y^*)x^* + bxd(y+y^*)x^*, \text{ for all } x, y \in R.$$

Using  $y - y^*$  for y, we get

(9) 
$$B(x)y = B(x)y^*, \text{ for all } x, y \in R.$$

In view of [[19], Lemma 1], we get  $B(x) \in Z(R)$ , for all  $x \in R$ . Taking  $y = y^*$  in (7), we arrive at

(10) 
$$F(xy + y^*x^*) = F(x)y + F(y^*)x^* + by^*d(x^*) + bxd(y)$$
, for all  $x, y \in R$ .

Replacing y by xy in (10), we get

(11) 
$$F(x^2y + y^*(x^*)^2) = F(x)xy + F(y^*x^*)x^* + bxd(x)y + bx^2d(y) + by^*x^*d(x^*),$$

for all  $x, y \in R$ . Taking  $x = x^2$  in (10), we obtain

(12) 
$$F(x^2y + y^*(x^*)^2) = F(x^2)y + F(y^*)(x^*)^2 + bx^2d(y) + by^*d((x^*)^2),$$

for all  $x, y \in R$ . Using (11) and (12), we get

$$(F(x^2) - F(x)x - bxd(x))y + (F(y)x^* - F(y^*x^*) + by^*d(x^*))x^* = 0, \text{ for all } x, y \in R.$$

Replacing y by x, we have

$$(F(x^{2}) - F(x)x - bxd(x))x - (F((x^{*})^{2} - F(x^{*})x^{*} - bx^{*}d(x^{*}))x^{*} = 0, \text{ for all } x \in R.$$

This implies that

$$B(x)x - B(x^*)x^* = 0$$
, for all  $x \in R$ .

By (8), we arrive at

(13) 
$$B(x)(x+x^*) = 0, \text{ for all } x \in R.$$

Taking y = x in (9), we get

(14) 
$$B(x)(x - x^*) = 0, \text{ for all } x \in R.$$

Thus in view of (13) and (14), we get 2B(x)x = 0, for all  $x \in R$ . Since R is 2-torsion free, we obtain

(15) 
$$B(x)x = 0$$
, for all  $x \in R$ .

Since B(x) is in Z(R), this implies that xB(x) = 0, for all  $x \in R$ . Linearizing (15), we get

(16) 
$$B(x)y + B(y)x + \sigma(x,y)x + \sigma(x,y)y = 0, \text{ for all } x, y \in R,$$

where  $\sigma(x, y) = F(xy + yx) - F(x)y - F(y)x - bxd(y) - byd(x)$ , for all  $x, y \in R$ . Taking x = -x in (16), we have

(17) 
$$B(x)y - B(y)x + \sigma(x,y)x - \sigma(x,y)y = 0, \text{ for all } x, y \in R.$$

Using (16) and (17), we arrive at  $B(x)y + \sigma(x, y)x = 0$ , for all  $x, y \in R$ . Right multiplying by B(x), we get  $B(x)yB(x) + \sigma(x, y)xB(x) = 0$ , for all  $x, y \in R$ . This implies that B(x)yB(x) = 0, for all  $x, y \in R$ . Since R is a semiprime ring, we obtain B(x) = 0, for all  $x \in R$ . This implies that

(18) 
$$F(x^2) = F(x)x + bxd(x), \text{ for all } x \in R.$$

Let u, v be fixed element of R such that w[u, v] = 0 or [u, v]w = 0. Then in view of Lemma 2.1 (iv) and hypothesis

(19) 
$$\delta(u,v) = 0,$$

we have to show that  $\delta(x, y) = 0$ , for all  $x, y \in R$ . Again in view of Lemma 2.1 (iv), we have

(20) 
$$\delta(x,y)[x,y] = 0.$$

Replacing x by x + u and using (20), we get

(21) 
$$\delta(x,y)[u,y] + \delta(u,y)[x,y] = 0, \text{ for all } x, y \in R.$$

On substituting y by y + v and using (19) and (20), we have

$$(22) \ \delta(x,y)[u,v] + \delta(x,v)[u,y] + \delta(x,v)[u,v] + \delta(u,y)[x,v] = 0, \ \text{for all} \ x,y \in R.$$

Taking x = u in (22) and making use of (19), we obtain  $2\delta(u, y)[u, v] = 0$ , for all  $y \in R$ . Since R is 2-torsion free and using the given assumption, we have

(23) 
$$\delta(u, y) = 0$$
, for all  $y \in R$ .

Again replacing y by v in (21) and using (19), we get  $\delta(x, v)[u, v] = 0$ , for all  $x, y \in R$ . Since [u, v] is not a zero divisor, we get

(24) 
$$\delta(x, v) = 0, \text{ for all } x \in R.$$

Thus by (22), (23) and (24) we get  $\delta(x, y)[u, v] = 0$ , for all  $x, y \in R$ . This implies that  $\delta(x, y) = 0$ , for all  $x, y \in R$  i.e., F(xy) = F(x)y + bxd(y), for all  $x, y \in R$ , which completes the proof.

**Proof of Theorem 1.2.** By the given hypothesis, we have

(25) 
$$F(xy^*x) = F(x)y^*x + bxd(y^*)x + bxy^*d(x)$$
, for all  $x, y \in R$ .

On substituting x by x + z and on solving, we have

(26)  

$$F(xy^*z + zy^*x) = F(x)y^*z + F(z)y^*x + bxd(y^*)z + bzd(y^*)x + bxy^*d(z) + bzy^*d(x),$$

for all  $x, y, z \in R$ . Replacing z by  $x^2$  in (26), we get

$$F(xy^*x^2 + x^2y^*x) = F(x)y^*x^2 + F(x^2)y^*x + bxd(y^*)x^2 + bx^2d(y^*)x$$
(27) 
$$+ bxy^*d(x)x + bxy^*xd(x) + bx^2y^*d(x), \text{ for all } x, y \in R.$$

Taking y as  $x^*y + yx^*$  in (25), we obtain

$$F(xy^{*}x^{2} + x^{2}y^{*}x) = F(x)y^{*}x^{2} + F(x)xy^{*}x + bxd(y^{*})x^{2}$$

$$(28) + bxy^{*}d(x)x + bxd(x)y^{*}x$$

$$+ bx^{2}d(y^{*})x + bxy^{*}xd(x) + bx^{2}y^{*}d(x), \text{ for all } x, y \in R.$$

On comparing (27) and (28), we arrive at

(29) 
$$(F(x^2) - F(x)x - bxd(x))y^*x = 0$$
, for all  $x, y \in R$ .

This can be further written as

(30) 
$$\phi(x)y^*x = 0, \text{ for all } x, y \in R,$$

where  $\phi(x) = F(x^2) - F(x)x - bxd(x)$ . Replacing y by  $y^*x^*$  in (30), we get  $\phi(x)xyx = 0$ . Now replacing y by  $z\phi(x)$ , we get  $\phi(x)xz\phi(x)x = 0$ , for all  $x, z \in R$ . Using the semiprimeness of R, we obtain

(31) 
$$\phi(x)x = 0$$
, for all  $x \in R$ .

Taking x = x + y, we get

(32) 
$$\phi(x)y + \beta(x,y)x + \phi(y)x + \beta(x,y)y = 0, \text{ for all } x, y \in R,$$

where  $\beta(x, y) = F(xy + yx) - F(x)y - F(y)x - bxd(y) - byd(x)$ . Replacing x by -x in (32) and making use of (32), we get

$$2(\phi(x)y + \beta(x,y)x) = 0$$
, for all  $x, y \in R$ .

Since R is 2-torsion free, we arrive at

(33) 
$$\phi(x)y + \beta(x,y) = 0, \text{ for all } x, y \in R.$$

Multiplying (33) by  $\phi(x)$  on the right side, we get

(34) 
$$\phi(x)y\phi(x) + \beta(x,y)x\phi(x) = 0, \text{ for all } x, y \in R.$$

Taking  $y = y^*$  in (30), we get  $\phi(x)yx = 0$ , for all  $x, y \in R$ . This further implies that  $x\phi(x)yx\phi(x) = 0$ , for all  $x, y \in R$ . Thus by the semiprimeness of R, we get  $x\phi(x) = 0$ , for all  $x \in R$ . Using this in (34), we obtain  $\phi(x) = 0$ , for all  $x \in R$ . Hence  $F(x^2) = F(x)x + bxd(x)$ , for all  $x \in R$ . Now, following on similar lines as after (18), we get the required result.

#### Acknowledgements

The authors wish to express their sincere thanks to Professor P. Corsini, Professor I. Cristea and the anonymous referees for their valuable comments, suggestions and advice to improve the article in the present shape.

#### References

- E. Albaş, N. Argaç, Generalized derivation on prime rings, Algebra Colloq., 11 (2004), 399-410.
- [2] S. Ali, N. A. Dar, On \*-centralizing mappings in rings with involution, Georgain Math. J., 21 (2014), 25-28.
- [3] S. Ali, N. A. Dar, A. N. Khan, On strong commutativity preserving like maps in rings with involution, Miskolc Math. Notes, 16 (2015), 17-24.
- [4] S. Ali, N. A. Dar, M. Asci, On derivations and commutativity of prime rings with involution, Georgain Math. J., (2016), 9-14.

- [5] H. E. Bell, W. S. Martindale, *Centralizing mappings on semiprime rings*, Canad. Math. Bull., 30 (1987), 92-101.
- [6] H. E. Bell, N. Rehman, Generalized derivations with commutativity and anti-commutativity conditions, Math. J. Okayama Univ., 49 (2007), 139-147.
- [7] M. Brešar, Centralizing mappings and derivations in prime rings, J. Algebra, 156 (1993), 385-394.
- [8] M. Brešar, Commuting traces of biadditive mappings, commutativity preserving mappings and Lie mappings, Trans. Amer. Math. Soc., 335 (1993), 525-546.
- [9] M. Brešar, On the distance of the composition of two derivations to the generalized derivations, Glasgow Math. J., 33 (1991), 89-93.
- [10] M. Brešar, M. A. Chebotar and P. Semrl, On derivations of prime rings, Comm. Algebra, 27 (1999), 3129-3135.
- [11] N. A. Dar, S. Ali, On \*-commuting mappings and derivations in rings with involution, Turkish J. Math, 40 (2016), 884-894.
- [12] N. A. Dar, A. N. Khan, Generalized derivations in rings with involution, Algebra Colloq., 24 (2017), 393-399.
- [13] I.N. Herstein, *Rings with involution*, Chicago Lectures in Math., The University of Chicago Press, Chicago, 1976.
- [14] M. T. Kosan, T. K. Lee, b-Generalized derivations having nilpotent values, J. Aust. Math. Soc., 96 (2014), 326–337.
- [15] C. K. Liu, On skew derivations in semiprime Rings, Algebra Represent Theor., 16 (2013), 1561-1576.
- [16] C. K. Liu, An Engel condition with b-generalized derivations, Linear Algebra Appl., 65 (2017), 300-312.
- [17] E. C. Posner, Derivations in prime rings, Proc. Amer. Math. Soc., 8 (1957), 1093—1100.
- [18] L. Small, Mappings on simple rings with involution, J. Algebra, 13 (1969), 119-136.
- [19] J. Vukman, I. Kosi-UlBl, On centralizers of semiprime rings with involution, Stud. Sci. Math. Hungar., 43 (2006) 61-67.

Accepted: December 27, 2021